(BB S BT mindman
eyffl HETTRESR
SREL FEHET TR FIT12 RAITHE
LS (mm) (mm) (mm)
220 | 25,50,75,100,125,150,200 | 201~350
R 025 301~400
032 301~450 1200
— 240 301~800
FH g2t 5265,26705,'21500%10205’ 301~1200
263 301~500
NS 280 301~500 500
( ﬁfflfg ) 2100 301~500
* HRTTREINR R  FRAEBAR -
Hirk
Bk MCCG
fEB = EE)A
SRUHLPAIAE (mm) 20 | 25 | 32 | 4 50 | 63 80 100
B TR Rc1/8 Rc1/4 Rc3/8 Rc1/2
RS ZE5R,
X ABEFES) 1 MPa
/)M IR S 0.05 MPa
it &) 1.5 MPa
e N aRlit]
JEI B —5~+60°C ( S )
5 P S e ] 50~500 mm/sec
— 0.10 0.17 03 0.5 0.85 1.48 2.48
() B A 0.09 0.14 0.23 0.45 0.85 1.23 2.95 4.18
ERRES RDC, RQC ,RCM RCM
R'C BKC-1 ( A5 R"CV T2t ) -
RCM BMG20 | BMG25 | BMG32 | BMG40 | BMG50 | BMG63 | BMG80 | BMG100
VAN A

MCCG—11—-40—100M — A —L]

T

A EE

A (A) ATRRR TR

MY 1 mamE e | 0ELEER 2.5 ) -
A: TR A 2. BPERRPHEHE] - SRS -
1EEN 5/ 1R im e B IR e SEN A
prom p— - M: BiREE BLECHRF
i - Re o
11| [ | swss NPT: NPT %
"G TR » AR AL - A4

7
= =

M mindman

1. AR o SRR S
Rl fERH B E AR EINE (BT

Y



https://www.mindman.com.tw/proimages/pdf/C_RDC.pdf
https://www.mindman.com.tw/proimages/pdf/C_RCM.pdf
https://www.mindman.com.tw/proimages/pdf/C_RCM.pdf
https://www.mindman.com.tw/proimages/pdf/C_special_specification.pdf
https://www.mindman.com.tw/proimages/pdf/C_Rod_end_shape.pdf
https://www.mindman.com.tw/proimages/pdf/c_technical_data.pdf
https://www.mindman.com.tw/proimages/pdf/C_mini_Precautions.pdf

MCCG BPERTIBICR

mindman

[E] BY S [BR ET

Vs o S

LHERC: | B TR R
e
- LB SDB-R*' SDB-H*'

e (LHTISE 218) ee A Al (& TA) (&7B)
LR

— o=t 1) e=CE—1 RAd— =

220 LB-C1-20 CB-C1-20 FAC-C1-20 SDB-C1-20

225 LB-C1-25 CB-C1-25 FAC-C1-25 SDB-C1-25

232 LB-C1-32 CB-C1-32 FAC-C1-32 SDB-C1-32

240 LB-C1-40 CB-C1-40 FAC-C1-40 SDB-C1-40

250 LB-C1-50 CB-C1-50 FAC-C1-50 SDB-C1-50

263 LB-C1-63 CB-C1-63 FAC-C1-63 SDB-C1-63

280 LB-C1-80 CB-C1-80 FAC-C1-80 -

2100 LB-C1-100 CB-C1-100 FAC-C1-100 -

B R
e CB+SDB+PIN*' CB+SDB+PIN*"** TA B v I
. (s ) & p) (R ) (#-E )

LR

i @ S | =SB

220 | CB+SDB+PIN-C1-20 - TA-C1-20 Y-C1-20 1-C1-20

225 | CB+SDB+PIN-C1-25 - TA-C1-25

232 | CB+SDB+PIN-C1-32 - TA-C1-32 Y-C1-25 -C1-25

240 | CB+SDB+PIN-C1-40 - TA-C1-40 Y-C1-40 1-C1-40

250 | CB+SDB+PIN-C1-50 - TA-C1-50

263 | CB+SDB+PIN-C1-63 - TA-C1-63 Y-C1-50 I-C1-50

280 - CB+SDB+PIN-C1-80 - Y-C1-80 1-C1-80

2100 - CB+SDB+PIN-C1-100 - Y-C1-100 1-C1-100
1. MCAHHEERR P C:w °

2. SDB fic mﬁ%mr' SDB-C1-80/ 100) °

W felidH / AT ACER

TR RITHRE S Y&I $285 CB Fff:
. PIN-Y-P PIN-CB-P
% NUT Uk (&) (&)
BT ‘ ‘ =

PR =I='=‘===‘ S I D —D
220 NUT-M8x1.25x5Hx13B 220 | PIN-C1-20-2-P PIN-C1-20-1-P
225 925 PIN-C1-25-1-P
32 NUT-M10x1.25x6Hx17B 32 | PIN-C1-252-P BIN-C1-321P
240 NUT-M14x1.5x8Hx22B 240 | PIN-C1-40-2-P PIN-C1-40-1-P
250 250 PIN-C1-50-1-P
63 NUT-M18x1.5x11Hx26B 53 | PIN-C1-50-2-P PIN-C1-631P
280 NUT-M22x1.5x13Hx32B 280 PIN-C1-80-1-P

2100 NUT-M26x1.5x14Hx35B 2100 PIN-C1-100-1-P

VA g N
W EJIEERG] / BfTRAT W G JIEER G / IR AT
SERLPIE 032 () LB FLH: - Y 1208 - g - AN DR T+ AR R -
L L Bt MCCG — 1Z#3TREKS5®  + LB

1 LB-C1-32 2 | |

2 Y-C1-25

3 PIN-C1-25-2-P 1 SREAT B

* BRRE TR / 208 / e
A BRI RS T B

M mindman




MCCG / MCCN Wbt R L 2%

i

BB S BE T

il

| 2 EEEE (R ) |

Y

EEE

FEEME ARSI B R
EF ) - sl A | B =
No % 5 B K= ﬁi(mﬁ) fifizE
1| @ | @ |HEEEFEE| NBR 1| @|@®
2| @ AR NBR 2 @@
3 [ BB NBR 2 @@
4| @ | @ |EEEHER NBR 1 | @|®
5 @ | @ |OHR NBR 1| @|@®
6| @ | @ |OHWE NBR [1or2| @ | @ [250~100 (#k =2)
7 @ | @ |HiE oS 1| @
8 @ | @ |&#E e 1| @
9 | @ | @ |FIE%E frapapery 1|@
10| @ | @ |#&IH%E A=A 1| @
1" @ | @ |HE WRES | 1 | @
2l ele @‘l%ﬁ [2=y) 1 |O OiEhie
i e 1@ S 020~032
13| @ | @ |MEEsR il 1| @
14| @ | @ | & T 1@ 220 NEHEA
15| @ | @ [FHHEER Tk 1| @
16| @ | @ |/FAiiE Tl 1|@
17| @ | @ [HE A=y 1
18| @ | @ |iGFEM TR 1 320~25 7455
19 @ |OFE NBR |40r2 240~80 ( B =2)
20 @ | & N 2 250 §i44 ,863~100: ks
21 @ | SHE=E (=] 2 {38 250
22 @ |SHEGEICHRNE | &5 | 2 {38 @20~32
23 @ |/ AIRIE Tk 2 {3 920~32

M mindman

mindman

220~@32

W SRR / BT CER

CP—MCCG—-20SM—[1
——37] T

BUgR BoEOMREF
MCCG 20 it : Rc &
MCCN 25 NPT: NPT 7f

32
40
50 M: [t
63
80
100

*MCCN f##E5H] NPT 4 -
* G HIRARELD FAREBAL -

W EHE / TR
PS —MCCG — 20 — XBé6

b

= < i : NBR

un 4 NS

BUER RELAFE XB6: fiit E5E
MCCG 20

MCCN 25
32

40

50

63

80

100

i S R
RERE g



MCCG %%ttt

i

BB S BE T

mindman

)

No. LR = T HERS No LR MH A
1 | LB ZctF s 9 | Y+PIN BEERCHE s
2 | FAC/IFBC Z3:fic i s 10 | I+PIN HZEERC s
3 | CB+PIN 22454 (1) i |(=), =), 11 | MFC {#E#E g
4 | SDB ZHEE: (1) o] ) 12 | MFCS {Z8h 08 TS
5 | CB+PIN 22444 (2) g | (=), =), 13 | PHS fafiR 0 iz ()
6 | SDB ZH&fiff: (*2) 8% =, 14 | R*C+BKC-1 {#&g5 + H7f — (<)
7 | SDB-R(H) Ze8Hg TN 15 | RCM+BMG** {#/&5% + i — ()
8 | TA/TB Z22&if: ] 16 | PC &2 (PISCO) —

*1_SEFIRE 020~63 17 | JSC §i#z% (PISCO) —

*2. sEHMTE 280,100

M mindman



https://www.mindman.com.tw/proimages/pdf/C_MFC.pdf
https://www.mindman.com.tw/proimages/pdf/C_MFCS.pdf
https://www.mindman.com.tw/proimages/pdf/C_PHS.pdf
https://www.mindman.com.tw/proimages/pdf/C_RDC.pdf
https://www.mindman.com.tw/proimages/pdf/C_RCM.pdf
https://www.mindman.com.tw/webls-zh-tw/product-fitting.html
https://www.mindman.com.tw/webls-zh-tw/product-JS.html

MCCG SRS 220~2100

= 1 r— Ty -
B BY Sa B iEL mindman
220, 325 232~2100
GB GA §
[——‘ 2-P(FETL ) ‘ 2x2-TCxTE ¥ a
o
KA H1 A ‘ KA H1 2x4-J ‘ ‘ 2
- ‘ N ] ‘ X
MM e = ] &
\ . r 1 1 a g
( —l=3 1L/ ™) -
Q S| W J W s, W
(s) 1 U i !
3 \B1 \B1
AL AL
K A Y K. A TF
2 | TB_| TA F
F S+ {7t H -
77+ 1712 A-A i
W A 1l 7Y e " 220~263 280, 100
] P( L& 10° P( B AL
n . ‘ ‘ ‘ oA (FUEL ) W (RUETL )
. U nir |
ll'_T ..j \:E_J | -
& ) |
l O Wi
TR | menE | EaE
o ik aif |A|AL(B1|C|D|E|F|GA| GB | GD | H [H1]| I J K |KA
20 ~200 201~350 18 |15.5| 13 |14 8112 2 12 112 (12)(12 (12)| 35 5 26 | M4x0.7x7 % 4 6
25 ~300 301~400 | 22 |19.5( 17 |16.5| 10 [ 14 | 2 | 12 |12 (12)|12(12)] 40 | 6 | 31 | M5x0.8x7.5 & 8
32 ~300 301~450 22 |119.5] 17 |20 12 | 18 2 12 (11 (12)|11 (12)| 40 6 38 | M5x0.8x8 % 55|10
40 ~300 301~800 30 |27 22 |26 16 | 25 2 13 [12(13)|10 (13)| 50 8 | 47 | M6x1.0x12 & 6 14
50 ~300 301~1200 | 35 (32 26 |32 20 | 30 2 14 |13 (13)[12 (14)| 58 | 11 | 58 | M8x1.25%16 & 7 18
63 ~300 301~700 | 35 |32 26 |38 20 [ 32| 2 | 14 [13(13)|12(14) 58 | 11 | 72 | M10x1.5x16 & |7 18
80 ~300 301~700 | 40 (37 32 |50 25 | 40 3 20 (16 (16)|16 (16)| 71 | 13 | 89 [ M10x1.5x22 %& 10 | 22
100 ~300 301~700 | 40 (37 35 |60 30 | 50 3 20 (16 (16)|16 (16)| 71 | 14 | 110 [ M12x1.75x22 % |10 | 26

722 MM |NA| P S TA| TB TC TDHe (TE|TF |TG| W (WA| WB z

20 |M8x1.25 | 24 [Rc1/8| 69(77) | 11 [11 (11)| M5%0.8 8 *39%| 4 (0.5 | 5.5/40°| 14 |14 (14) | 106 (114)
25 |M10x1.25| 29 [Rc1/8| 69(77) | 11 [11 (11)[M6x0.75 | 10 *3%%®[ 5 |1 6.5 40°| 14 [13 (13) | 111 (119)
32 |M10x1.25| 36 [Rc1/8| 71(79) | 11 [10 (11)|M8x1.0 |12 *3%3| 5.5|1.25( 7.5/30° | 14 |13 (13) [ 113 (121)
40 |M14x1.5 | 44 |Rc1/8| 78(87) | 12 |10 (12)| M10x1.25| 14 3% 6 [1.25| 8 |[20°| 16 |15 (16) | 130 (139)
50 [M18x1.5 | 55 [Rc1/4| 90(102)| 13 [12 (13)| M12x1.25| 16 *3%3| 7.5(2 |10 |20°| 16 |16 (16) | 150 (162)
63 [M18x1.5 | 69 [Rc1/4| 90(102)[ 13 [12 (13)| M14x1.5 |18 *39%3|11.5(3 [14.5|20° | 18 |18 (18) | 150 (162)
80 |M22x1.5 | 86 |[RC3/8|108(122)| — - - - - | = | - |25°| 24 |20 (20) | 182 (196)
100 |M26x1.5 |106|RC1/2| 108(122)| — - - - — | = | = |25°| 24 |20 (20) | 182 (196)

(): WREITERST -

M mindman



MCCG 2350 220~2100

= 1 r— 0y -
B BY Sa B iEL mindman
I W\ I Il ]
7\ | N 172\ [
o N2 Y/ 8
5 L
. . J
Cor——atr——a1 T T/
T T T T T T
/ w ‘ ™~ 2-gLC 5 w
4-0LD Lx w0 || ) o "
Lz ZF LS+ 17F2
7D+ 72
%] B [Lc|[LD|LH| Ls [LT|x|LZ|m|wW|X|Y| zD |zF
20 | 34 | 4 |6 |20 |45(53)|3 | 32| 44|22|10 [15 | 7 |109.2 (117.2) |47
25 385| 4 6 22 | 45(53) (3 36 | 49|28 (10 (15 7 |[114.8 (122.8) | 52
32 45 4 6.6| 25 |45(53) (3 44 58128 |10 |16 8 [116.8 (124.8) | 53
40 | 545| 4 | 66|30 |51(60)[3 | 54| 71|33 |10 |16.5] 8.5(134.3 (143.3) | 635
50 | 705| 5 | 9 | 40 |55(67) |45 | 66 | 86|44 |175/22 |11 |156.9 (168.9)| 75.5
63 825 5 |11 45 [ 55(67)|4.5 | 82 [106| 5.5 [17.5|22 |13 |158.0 (170.0) | 75.5
80 (101 6 |11 55 | 60(74)| 4.5 [100|125| 5.5 |20 |28.5(14 (189.0(203.0)|95.0
100 121 | 6 |14 | 65 |60(74)|6 |120]150]|6.2 |20 |30 |16 |192.2 (206.2)]95.0
m ( ): |NJ.:§J§?J‘$§";)\I‘J °
4-gFD
| il I |
‘\ \‘ ‘\ \‘
| | | |
EQH@ O———— @ﬂ
1S}
OFX F||FT
OB

4-FD

|

|

|

|

|
OE*S0s

FT F OFX
ZE+ 1712 0B
B2 |B|E|F|Fx|FD|FT| zE

20 40(12 | 2 28| 55| 6 | 112(120)
25 4414 | 2 32| 55| 7 |118(126)
32 53|18 | 2 | 38| 6.6| 7 [120(128)
40 61|25 | 2 46| 6.6| 8 | 138(147)
50 76|30 | 2 58| 9 9 [ 159 (171)
63 92132 | 2 70|11 9 [ 159 (171)
80 (10440 | 3 82|11 11 | 193 (207)
100 |128| 50 | 3 [100|14 | 14 | 196 (210)

() WBEFRRT -

M mindman



MCCG 2350 220~2100

B &Y Se BR £ T mindman
' cB JECE:CEE
220~63
(074
RR Oc+0.1 TT

2CD L. H10

[T AN) EWe i
09— | a1 N %,, ' ' -
W i CARE il -
N | | | )
SDB Flff: N T
I I T 1 ) |
| ‘ ™
TY 4-0TF X
E— gTE Y’
Tw v (L)
Z+1THE ‘ TZ
1
ZC +171%
280, 100
TZ
L RR cz
CB [it {4 v 0C#0.1
: T
1 A@ Fm
1L _ _ i B V) M
L 4-9TF B
" | =
T___TTIN_SDB i} i | I
TY X 105
. TW X
Z+ 171
ZC + 1712
%%—2 B|C |CDICX|CZ| L [RR|V |TE|(TF|TH|TT|TV|TW|TX|TY | TZ Z ZC
20 (38 |14 | 8| - [20| 14| 11| - |10 55| 25|32 |358| 42 | 16 | 28 | 43.4 | 118 (126) | 139 (147)
25 [455[165( 10| — [ 33|16 [ 13| - | 10| 55| 30 |3.2 [39.8] 42 | 20 | 28 | 48 | 125(133)| 146 (154)
32 |54 [20 [ 12| - [40 {20 (15| - | 10| 6.6 35 |45 |49.4| 48 | 22 | 28 | 59.4 | 131 (139) | 155 (163)
40 |635[26 |14 | — |49 |22 |18 | - | 10| 6.6] 40 |45 |58.4| 56 | 30 | 30 | 71.4 | 150 (159) | 178 (187)
50 (79 [32 [16| - [60|25 (20| - |20 9 |50 |6 |[724| 64 |36 | 36| 86 |173(185)| 205(217)
63 |96 [38 |18 | — [74 {30 (22| — |20 |11 |60 |8 [90.4| 74 | 46 | 46 [105.4 | 178 (190) | 215 (227)
80 [99.5[50 |18 |28 |56 (35] 18|26 | — |11 |55 |11 [110[ 72 [ 85| 45 | 64 |214 (228)|272.5 (286.5)
100 [120 |60 |22 |32 |64 |43 |22 32| - [135] 65 [12 |130| 93 [100] 60 | 72 | 222 (236) [298.5 (312.5)

O): WREITERST -

M mindman



MCCG 2350 220~2100

= |I= 0y -
B 5! B2 &L mindman
m 520~63 (% TA/ TB) 280, 100
TZ
4 oTR ™
e
o —
/A i
- |
SRR @CDM° @ ‘
| = I
| \ F|F | | |
i HE L] | L]
o v 4-;aTF//\ TX |
oTE 7y ™ Tz
(AL
soe-R IS spB-H [N
TB i}
TA ficff
T :
| | o [ U
o H—T_H AR ®,+ 72 V1 S A _\
— - 1 _ U L. o
m
‘ ; B
i ZB+ 1712 |
ZA ZC+ {12
g;z; B (CD|TB|TE|TF|[TH|TN|TR|TT |TV|TW|TX|TY | TZ | ZA ZB ZC I IME
20 (38 | - | 36|10 |55 25 |29.3| 14 | 3.2|35.8| 42 | 16| 28 | 51 |46 | 93(101) | 114(122) | 8d9 3%
25 |455( — | 43|10 |55 | 30 [33.1| 16 | 3.2|39.8 42 | 20| 28 | 58.2| 51 | 98(106) | 119(127) | 10d9 3%
32 |54 | — [ 50|10 |6.6|35(40.4| 18 | 4.5(49.4| 48 | 22| 28 | 71.5| 51 | 101(108) | 125(132) | 12d9 5333
40 |63.5| — [ 58| 10 | 6.6 | 40 [49.2 22 | 4.5|58.4| 56 | 30| 30 | 88.5| 62 | 118(125) | 146(153) | 14d9 533
50 |79 | - [ 70| 20|9 |50 (60.4| 25| 6 |[72.4| 64 | 36| 36 (109 | 71 | 136(147) | 168(179) | 16d9 5233
63 |96 | — | 82|20 |11 |60 |74.6| 27 | 8 |90.4| 74 | 46| 46 |131 | 71 | 136(147) | 173(184) | 18d9 5353
80 | — [18] 73| — [11 |55]| 28|36 |11 - | 72| 85|45 (110 | - - - 18d9 3053
100 | - [22 |90 | - |135[65| 32|50 (12 | - [ 93 |100| 60 [130 | — = = 22d9 5953
(): WRETERN -
= A 72 HE
| LR gl EEHBE%
2 - R*C (377 : BKC-1) @
B aAa|B|D|E
20 | 285 | 415 | 135 | 27
25 | 31 465 | 135 | 27
32 | 35 54 135 | 27
40 | 39.5 | 63 135 | 27 - )
50 | 45 74 135 | 27
63 | 52 88 135 | 27
HEZS - RCM (377 : BMG*)
|l a|B|c|D|E
20 | 24 375 7 16 28
25 | 265 | 425 7 16 28
32 | 30.5 | 50.5 7 16 28
40 | 35 59.5 7 16 28
50 | 40.5 | 70.5 7 16 28
63 | 475 | 845 7 16 28
80 | 56 1015 7 16 28
100 | 665 | 1225 | 7 16 28

M mindman




MCCG R/ BPEHEF)F 020063 V

B &Y Se BR £ T mindman

TR

D=
]
Q Il
<8 . Y| T
~ a
o6 ——fe]
2| TB | TDe8 |TR| TZ [zA| 2z
ZA
2Z+1f% 20 [1M1(11)]| 8383 (39 | 51 | 46 | 106 (114)
25 [11(11)]| 10 %2 |43 | 58.2| 51 | 111 (119)
32 [10(11) |12 99 |53.5| 71.5| 51 | 113 (121)
3 40 [10(12)] 14 6% |64.5| 88.5| 62 130 (139)
‘ 5 50 [12(13)[16 993 |80 [109 | 71 |150 (162)
i 1T PR « 63 [12(13)[ 18 22 o8 [131 | 71 |150 (162)
\&); () WEEITERT -
|

22+ 13 li
MCCG / MCCN

SDB-R(H) / TA/ TB 222

MCCG / MCCN il e

=5

g =0
AR

i
(HMEREE SR )

SDB Fiilff:

CB+PIN+SDB 4527 CB Kt

s I i
|
|
CB Hif |
|
|
|

L |

(HMEREE R )

SDB {4

M mindman



MCCG st o20~a100

= 1| = B -
B 5! B2 &L mindman
(=]
Y 1258
220~332 240~263 280, 8100
oND 7L H10 MM oND fL H10 MM oND fL H10 MM
il d9 il d9 7
h - g R I
R1
L1
A
U1 U1
| U1 .
] R I
A1 =1 B
IRk 4 B 1 S T
. Ll L
- [
B2 A|{A1|E1| L [L1| mm |R1|ut|ND| NX | NZ
20 34 | 85(016(21 | 25 |[M8x1.25 | 14 115 8| 8 :%4[15.88
25,32 | 41 [10.5|020(25.6( 30 |M10x1.25| 18 [14 |10 |10 :3%(19.05
40 42 [16 [e2041.6] 30 [M14x1.5 [ 12 [14 [10]18 :25]36
50,63 | 56 [20 |225(50.6| 40 [M18x1.5 [ 16 [20 |14 |22 :35]44
80 71|23 |41 |64 |50 |[M22x1.5 | — [26 |18 |28 35|56
100 |79 |24 |47 |72 | 55 [M26x1.5 | — |30 |22 (32 :35(64
s
= 3
e [N —| ik
220~32 240~263 280, 3100 " p
T L
oND oND MM
210 MM T @ND H10 MM ‘
CB % it 5
ﬁ(}’ & K= (G [ Tpae [p1] L [u]m| 7] s
R1 i R1 & LS =
M i | 20 | 8 5% | 7.6| 43.4(38.6|1.5 |0.9 | STW-8
L1 ‘ U 25 [10 5% | 9.6| 48 [42.6|1.55(1.15| STW-10
A A A“ 32 |12 3% |11.5| 59.4(54 |1.55|1.15| STW-12
01 40 |14 3% |13.4| 71.4[65 |2.05[1.15| STW-14
] — 50 |16 5% |15.2| 86 |[79.6|2.05|1.15| STW-16
(| ‘ 1T 63 |18 5% |17.0(105.4(97.8|2.45|1.35| STW-18
x I R S S B -1 r
z ! ‘f‘\:: 80 [18 3% | 17 |64 |56.2(2.55(|1.35| STW-18
I ;
N N 100 |22 3% | 21 (72 |64.2|2.55(1.35| STW-22
Y B & 1 A S HEE F e
B A {A1[E1|L1| MM [R1 | Ut | NDuio | NX % |pdo [D1| L |L1|m|T| som
20 34 | 85|016| 25 |M8x1.25 | 14 [11.5]| 8*3%8| 8 32 20 8 3% 7.6[21 [16.2]1.5 |09 | STW-8
25,32 | 41 [10.5|220| 30 [ M10x1.25| 18 |14 [103°%® |10 32 25,32 [10 35| 9.6/25.6(20.21.55|1.15| STW-10
40 42 (14 |@22| 30 [M14x15 | 12 |14 |10*3%8 |18 32 40 10 5% | 9.6(41.6(36.2|1.55[1.15| STW-10
50,63 | 56 |18 |@28| 40 [M18x1.5 [ 16 |20 |14 *3°° |22 52 50,63 |14 ©535(13.4|50.6(44.2|2.05(1.15| STW-14
80 71 (21 |@38| 50 |M22x1.5 | — [27 [18°997 (28 32 80 18 3551 17 |64 [56.2(2.55(|1.35| STW-18
100 | 79 |21 |o45| 55 |[M26x1.5 | — (31 [22739%4 |32 93 100 |22 3% 21 [72 |64.2|2.55[1.35| STwW-22

M mindman




MCCG #HE 520~0100

= EE .
B &Y e BE ET mindman
SR A kg
HORE & HRE S () .
BT 1712 25 mm
ire MCCG-11 MCCG-11-A MCCG-11-M MCCG-11-M-A
g e 1] e 1] e 1] e 1] o [[]]]
~200 0.107 0.112 0.108 0.113
20 0.022
201~350 0.117 0.122 0.118 0.123
~300 0.165 0.165 0.166 0.166
25 0.03
301~400 0.178 0.178 0.179 0.179
~300 0.233 0.237 0.234 0.238
32 0.043
301~450 0.261 0.265 0.262 0.266
~300 0.402 0.413 0.414 0.425
40 0.067
301~800 0.44 0.451 0.452 0.463
5 ~300 0.753 0.782 0.77 0.799 s
301~1200 0.838 0.867 0.855 0.884 ’
~300 1.058 1.076 1.078 1.096
63 0.119
301~700 1.192 1.21 1.212 1.23
~300 2.007 2.054 2.034 2.081
80 0.166
301~700 2.227 2.274 2.254 2.301
~300 3.015 3.094 3.05 3.129
100 0.234
301~700 3.348 3.427 3.383 3.462
iR EREE=:,
n PIN-Y-P PIN-CB-P 2
pidll
TUGR LB CB FAC / FBC SDB TA/TB Y | (EHE) (&) FERITHEIE
i | ) L (2] Ulh | == |=| o =
20 0.0434 0.037 0.066 0.089 0.012 0.0352 0.0318 0.0088 0.0174 0.004
25 0.0543 0.051 0.092 0.111 0.018 0.03
0.0622 0.0598 0.0164 0.008
32 0.072 0.096 0.136 0.202 0.038 0.053
40 0.089 0.147 0.208 0.311 0.068 0.093 0.07 0.0262 0.086 0.016
50 0.24 0.272 0.364 0.545 0.114 0.135
0.182 0.151 0.0618 0.032
63 0.352 0.488 0.521 0.725 0.176 0.2116
80 0.45 0.57 0.786 0.933 - 0.68 0.4 0.125 0.049
100 0.814 1.075 1.542 1.719 - 0.976 0.614 0.19 0.056

M mindman



	1_規格
	2_配件訂購代號
	3_內部構造及主要零件
	4_安裝配件
	5_外觀尺寸 φ20~φ100
	6_安裝配件 φ20~φ100
	7_安裝配件 φ20~φ100
	8_安裝配件 φ20~φ100
	9_安裝配件/配件組裝程序 φ20~φ63
	10_接頭配件 φ20~φ100
	11_重量

